
Totel No. of printed Pages 
: 7

Hnstructions :

1. //I questions of PAKI - A are compulsory.

2. Answer arry five questions from PARI - B.

PAKT _ A
Marks - 25

[. Fiti in the blanxs : 1x 10:10

(a) Generation of the computer is upgraded with
the advancement of the 

-.
(b) In fourth generation computers, 

- 

i5

u.qed.

(e) Flag register is a : bit register.
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holds the =-- of
memory location"

(0 Machine cycle gives ttre tlme req'oircd to

execute an --"---'

(g) Auxiiiary carry flag is *_._:: wh*n there

is no carry frora D, bit to D, bit'

(h) To retrieve data from stack -*-:- 
itl$-

truction is used.

(i) The memory address eapaciry of 8f.}86 is

There segments registor in

8086 mrcroPro:essor-.

2. Write true or false : . 1x lCI:10

(a) The code segment of the memory holds

instruction codes of a Program.

(b) The last instruction of subroutine in 8085

is CALL.
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t*) F*r the minimum mode of operation the pin

Fl3"i/l\itX is connected to V.".

idi lv{O"{*r BX, 8538 H, means move 16 bit data

8558H to BX.

{.t} i:t t:}*ln*ry rnapped llA, the device is

itanti€ed bY 8-bit address.

i8 ln 8S85, if the signal at the ready pin is low,

the nti.er*processor enters into wait state'

{g} ir:tel S255(PPI) is an important general

purF{}s€ IIO device that can be used with

almost anY microProcessor.

(l* Intel 8259 (PIC) manage seven intemrpts

aeceird.ing to the instructions written into its

aontrtltr registers.

{E} trn 8259, when the address line Ao is at

i*gir; *" the controller is selected to write

a c*rtarc€std or read a status.

{j}



3. Choose the eorrect ansriler : i x)=)

(a) In 8086, four segment registers are

(b) IILT opcode means

(i) Load data to accumulator

(ii) Load the accumulator with the csntcnt
of the memory

(iii)End of program

(iv) Store result in memory

(c) Mov B, M means

(i) The content of memory troeation will be

load in B register.

(ii) The address of memory lsspt$n will be

loaded in B-C register Pair.

(iii) The content of M rcgister will be

fiansferred to B register"

(rv) The content of B register wili move to
memory.
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(ii) cs, DS, ss, Es

(iii) Hs, Ls, BS, cs



(d) To exceute STA, 8G50H instructitn, tlte

required number of machine cyele are

(i) 2

(iii) 4

(e) In DIv{A (intel 825V), the number of

channels used is / are

(i) 3

(iii) I

(ii) 3

(rv) 6

(ii) 4

(iv) 2

4. (a)

(b)

PART _ B

Marks - 45

Define microcomputer.

What are the different language translators ?

Explain briefly.

ie) Write f,ew lines about cache memory. 2
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5.

6"

7.

(a) Srrits about the different frrnstions of buscs

in 8085 with ProPer diagram" 5

(b) Explain with proper diagram , the generati*n

of rea#write control signals' 4

(a) Why lower order address bus and data bus

are multiplexed and elemultiplexed ? 3

(b) Draw the timing diagram of MOtrr A" B arid

exPlain ProPerlY. 6

(a) What are stack and staek poirrter ? 3

O) With the hetp of PUSH and POE horv we

can store and retrieve the data in sta*k ?

Expiain with proper {igure and example'

8" (a) Write an ALP to find the largm number of

two 8-bit numbers, stored in two different

registers.

Write an ALP to add two 8-bit nunibers,

are stored in 2000H and 2030 *I. Tlie

is 16-bit number'
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e" (a)

{b)

*raln'the bloek diagram *f 8255 arrd explafur

thc opcration"

k1ake the sontrol lvord when the ptlrt's of

intel 8255 are defined as f'ollows :

(i) Part A as an outPut Part

{ii} Mode of Port A-Model

iiii) Part B as an inPut Port

(iv) Modc of Port B-mode 0

(v) Port Co**" as an inPut Port

(vi) Fort e,**., as an outPut P*rt' 4

What are the different general purposes

;;gi-t-t- in 8086 microProcessor ? 2

Explain the different modes of operation in

8086. 4

Wtite briefly about memory segmentation'
3
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10. (a)

{b)

(c)

11. ia)

{b}

of
6


